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Partl -1l
SOCIOLOGY

Maximum : 80 Scores

General Instructions to Candidates : _
e There is a “‘Cool-off time” of 15 minutes in addition to the writing time.
e Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.
e Read questions carefully before answering.
e Read the instructions carefully.
e Calculations, figures and graphs should be shown in the answer sheet itself.
e Malayalam version of the questions is also provided.
¢ Give equations wherever necessary.

e Electronic devices except non-programmable calculators are not allowed in the
Examination Hall.
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Answer all questions from 1 Ito 5. Each carries 1 score. 5x1=5)
1. Identify a peasant movement from the following :

(a) Adi Dharma Movement

(b) Tebhaga Movement

(¢) Chipko Movement

(d) SNDP Movement

2. Point out an argument that represent the integrationist view regarding tribes :
‘(a) Tribes need special protection froﬁ money lenders.
(b)  Tribals should be kept away from mainstream society.
(c) Tribals are backward Hindus.

(d) Tribals should live in secluded places.

3. Say ‘true’ or ‘false’ : -

"With the growth of television and internet the circulation of print media declined.’

4. Complete the chart showing the three dimensions of untouchability :

Dimensions of Untouchability

L l

Exclusion _ Exploitation

5. Fill the blank area with the most appropriate item from the bracket.

(Ecological movement, Peasant movement, Social movement, Counter movement)

‘Dharma Sabha is an example of i
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Answer any 4 questions from 6 to 10 in two or three sentences each. Each carries
2 scores. “4x2=8)

6.  Write a brief note about the significance of the 73" Amendment to India’s Constitution.

7. Observe the table showing the percentage-wise distribution of the age structure of
India’s population since 1971.

Age Structure
Year
0 —14 years 15 - 59 years 60+ years

1971 42 53 5
1981 40. 54

1991 38 56 7
2001 34 59 7
2011 29 63 8

Write down two derivations regarding the demographic dividend of India’s population.

8.  Point out any two impacts of globalization on Indian television.

-

9. “There is a vital difference between the empire building of pre-capitalist times and that
of the capitalist times.” Substantiate.

10.  Write down any two social impacts of circulation of labour.

Answer any 4 questions from 11 to 15 in four or five sentences each. Each carries
3 scores. ' @x3=12)

11.  Explain ‘Commodification’ with the support of examples.

12. M.N. Srinivas stated that ‘while lower castes sought to be sanskritized, upper castes
sought to be westernized'. Is this opinion true for all categories of people in India ?
Substantiate your answer.

SY 38 | 4
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13. Differentiate between ‘homogenisation” and ‘glocalization’ of culture with examples.

14.

15.

16.

17.

18.

19.

‘Government is trying to sell its shares in public sector companies.’
(a) What is the most appropriate term to refer this process ?

(b) Point out its implications for the workers.

It can be seen that ‘most states have been generally been suspicious of cultural diversity
and have tried to reduce or eliminate it’. What would be the reason ?

Answer any 3 questions from 16 to 19 in a paragraph each. Each carries
4 scores. ' B3x4=12)

It is argued that ‘the initial stage of learning sociology is to unlearn the prior knowledge
about society’. Analyse the reasons behind this argument.

(a) Pick out a civil society from the given list : 1)
(1) Doordarshan I
2) Asiénet
(3) AllIndia Radio
(4) Multinational Company

(b) What criteria did you use to distinguish the civil society from others ? A3

‘Industrialization and urbanization processes in India did not follow the way it took
place in the west.” Substantiate with examples.

Analyse the impact of globalization on Indian radio.
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Answer any 3 questions from 20 to 23 in one page each. Each carries 5 scores.

Ix5=15
20. Table shows the percentage wise distribution of Indian workers by their sfcatus of )
employment :
Status of Employment Rural Urban
Self employed 54.1 41.1
Regular employment 7.3 41.4
Casual employment 38.6 17.5
Total 160 100
(@) What does the table say about the employment in organized and unorganized
sectors ? 2)
(b) What is the sociological significance of the data for the workers in the
unorganized sectors ? A3
21. (a) Arrange the States in terms of child sex ratic :
- (Maharashtra, Punjab, Tamil Nadu, Kerala) )
(b) State the reasons behind declining child sex ratio in India. A3
22. (a) Arrange the given items in appropriate columns :
(Sanskritisation, Industrialisation, Urbanisation, Modermisation) (2)
Structural Change Cultural Change
(b) Point out any three criticisms levelled against Sanskritisation. 3
23. Arrange columns ‘B’ and ‘C’ so as to match with column ‘A’ :
A B C
Alfred Gel Tribal group Lifestyle
Nakarattar Colonial period Trade in salt
Banjaras Status symbol New merchant community
| Max Weber Weekly market Banking system
Marwaris Indigenous trading network Dorai
SY 38 8
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25.

29.

Answer any 2 questions from 24 to 26 in 1% pages each, Each carries 6 scores.
2x6=12)

List out the major powers and responsibilities of Panchayats. Examine how far the
Panchayati Raj institutions in your area have been successful in execufing its powers
and responsibilities.

Examine the impact of globalization on labour with the help of an example.

Point out any three commonly cited features of traditional caste system and examine

how far these features are significant in the contemporary Indian society.

Answer any 2 questions from 27 to 29 in two pages each. Each carries 8 scores.
2x8=16)

Critically evaluate the social impacts of land reforms in the colonial and independent
India.

-

(a) Point out the major problems faced by the Adivasis in India and analyse their

struggles to address these issues. ‘ &)

(b) List out the major state and non-state initiatives addressing the discriminations
faced by the Adivasis. A3)

Briefly explain the major features of social movements and examine how far these

features are present in the Chipko Movement.
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